I B {1t = Series

—_~N IV
JoFa1—TDES
# SZTV9IVARAML—F CAD|
D D
_ﬁ‘oHS‘ﬂFﬁ ._-]‘J T
|
) OL
il
@ —fizﬂ ) e
3 | m i |k
‘( (5 | It H —I ‘
< ’ R
A—FILRIDBES BRI RIDES
B3] : mm
B TR A0 [ oD
(mm2) (g) I741%
LC-0320-M3[ ] M3X0.6 25 (2. 2] 11 85 [8.8] 0.5[0.8] | LC0320-M3(C]
LC-0320-M50]| 2 |M5%08 3[(32)| 115 [85(83] 6 05 [0.3] 7 : 0.9 '|.5 L[:-Eezn-ru15[c,
LC-0320-01[] R1/8 8 18 14 6 - 10 0.9 6.9 |LC-0320:01
LC-0425-M3[ ] M3X0.5(25([22])] 12 |95([9.8)] 7 05[08]| 55 0.9 0.7  |LC0425-M3(C)
LC-0425-M5[] -~ M5X0.8 3[3.2) 13 110[9.8]] 7 |05(03] 7 1.7 1.5 [LCM5E(C)
LC-0425-M6[ 1| < M6 X1 4 | 14 10 7 05 8 1.9 256  |LC-M5MEC)
LC-0425-01[] R1/8 8 | 19 15 9 - 10 1.7 1.9 [LC-0425-01
LC-0535-M5[ ] 3 M5:X0.8 3[3.2] | 13 10 [9.8] ) 0.5 [0.3] 7 2 1.5  |[LC53B-ME(C)
LC-0640-M3[] M3X05[25(22] 12 (9598 7 |05(08])] 55 0.9 1.1 |LCOB0M3C)
129 LC-0640-M5[] 4 M5X0.8 3(32) | 13 |10(98]] 7 |05(03]] 7 38 1.5 [LCOBLOME(C)
_LC-0640-M6 D M6 X1 4 14 10 7 05 8 38 2.5  [LCOB40-MEIC)
LC-0640-01[] R1/8 8 | 19 | 15 i - 10 38 75 |LC-0640-01_
= :
= ZRNUVAZN—=YIVIIVR CAD
e 23
5]
LU
— L H
>i | | =

B
L
T
ﬁﬁ
L
‘ D

gf ;
wf

<
B . mm
Fa1-Jh§ | & iR | EH 2 CAD

--ﬂlﬂlﬂlllﬂl
LH-0320- M3D M3X0.5 15 LHﬂ320 M3
LH-0320-M5[] M5X0.8 34 16 126 59 '|0 2 '|.5 '7 8 '?.8 08 55 LH-0320-M5_
LH-0425-M3 ] 55 M3X05| 24 [115]| 9.1 | 42 5 98 | 15 1 55| 65| 5 | 05| 1.9 |LH045-M3.
LH-0425-M5[] | M5X08| 34 | 16 (126 59 " 2 ks (e 8 |78 |12 | 55 |LH0425-M5_
LH-0640-M5[ ] 4 M5X0.8| 34 | 16 |[126|59 | 7 | 11 2 1156] 7 8 |78 |15 | 6 |[LHO0B40-M5_

FR—IHBDIRER
HLEIREDOLICIE, ZU—2I— LS8R EHFRERESNDIBES. 885 | -CECEALEEL,
2. 7—)\RIZATDLTEG, RUMNITROSESETT,

#3.[ JADEIE. ZU—VIL—LABEAHRDIETT .
4. F2—TRIBLEDR., Fa—TISVTAU-T(LS)ZEERALTIEEL,

H—ANR—IICTCAD F— S BRI LTH D £



